

Apartment in Gharghur



Gharghur, Central



€710,000

Reference No: 240291010-1373

 Total Rooms: **6**

 Floor Area (m²) : **125**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Gharghur

GHARGHUR- A small corner block set in a prime area of this highly sought-after village. This exclusive development comprises only four units: a ground-floor maisonette, two apartments, and a duplex penthouse. All units enjoy breathtaking open country views, offering a peaceful lifestyle in one of Malta's most desirable residential locations.

Features

- ✓ En Suite
- ✓ PVC Piping
- ✓ Skirting
- ✓ Yard
- ✓ Electricity Utility
- ✓ A/C
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Living/Dining : 4.02 x 11.05 m (44.42 m²)
- ✓ Double Bedroom : 3.66 x 3.7 m (13.54 m²)
- ✓ Double Bedroom : 3.24 x 3.93 m (12.73 m²)
- ✓ Double Bedroom : 3.65 x 3 m (10.95 m²)
- ✓ Hallway : 4 x 1.8 m (7.2 m²)
- ✓ Bathroom Ensuite : 2 x 2.87 m (5.74 m²)
- ✓ Bathroom : 1.8 x 2.4 m (4.32 m²)
- ✓ Open Space : 13 x 4.6 m (59.8 m²)
- ✓ Open Space : 1 x 2 m (2 m²)

Gallery





Andrew Gauci

RE/MAX North - Qawra

M: 79871787

E: andrewgauci@remax.com.mt

T: 21585844

RE/MAX North - Qawra

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta